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Choose the correct answer .

1. Therange of the principle sine functionis

@ [-1]] (b) (—o0,0) (© R—{x|-1<x<2} (d) none of these
2. Therange of the principle cos function is
@ [-1]] (b) (—o0,0) (© R—{x|-1<x<2} (d) none of these
3. Therange of the principle cot functionis
@ [-1]] (b) (—o0,0) (© R—{x|-1<x<2} (d) none of these
4. tan'l=
T T T T
@ E (b) 2 (© 5 (d) 5
5. cosec 2=
0 T T
@0 (b) > (© 5 d) 7
6. cos(tan™0) =
(@0 (b) -1 © @1
7. sec{sin‘l(— lﬂ =
2
V3 1 2
(3)7 (b) > (© e (d) 2
8. tan[cos‘l ﬁj =
2
1 1
3 b) — 1 —
CRE ® © @ 5

9. sntA+sn?'B=
@ sin‘l(A\/l B? - By1- A’
(© sin” (A\/l B? + By1- A2

-Ja-A%)@a-B?)

(b) sin 1( )
(d) sin l(AB+\/(1 A?)(1-B ))
)

10. cos* A+cos'B=
@ cos‘l(A\/l B? - BJ1- A2 (b) cosl(AB Ja- A%)(a-B?)

)
)
)
(© cos 1(A\/1 B2 + BJ1- A2) d Cosl(ABJm/(l A?)(1-B ))
)
)
)
)

11. sntA-sn'B=
@ sin 1(Ax/1 B? - By1- A’
(© sin 1(Ax/1 B? + By1- A2
12. cost*A—cos'B=
@ cosl(A\/l B2 - By1- A’

© cosl(A\/l B? + By1- A?

(b) sin 1(A —Ja-A)a- B))
(d) sin l(AB+\/(1 A?)(1-B ))

(b) cosl(AB Ja-AY)a- B))
)

(d) cosl( B++/(1- A%)(1- B?)
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tan* A+tan* B =

A-B
tan™ ——
@ 1+ AB

L 2A
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(b) tan* A-B
1- AB

(b) tan™' 2A

(b) sect x

(b) —sintx

(b) cosec™

X |~

(b) © +sin"t x

(b) 7 +sec™t x

4, A+B

¢ tan
© 1- AB

(92 tan™ A

(c) cot™* x

1
sin™ x

©
(c) cos ' (—x)
(© % —sin™x

(0 w—sectx

T tantx=
2
(@ cot™ x (b) sect x (c) cosec™x
T -1
— —COSEC™ X =
2
(@ sntx (b) cos™* x (o) sec™ x
Inverse function exists only for the functions which are
(a onto (b) oneto one (c) bijective
tan™ 1 +tan™ 1

4 5

9 19
tan™ — b) tan™ — 00

@ 19 (b) 9 (©

We use the inverse trigonometric function to find
(a) anglewhen angleis given
(c) valuewhen angleis given
For the principal sines function

(@ sintx=(sinx)™
(c) both of above
Inverse exists only for

(8 principal trigonometric functions

(c) both of above
We can make a function a principal function by
(a) restricting its range

(©) restricting its domain

42 A+B

tan
@ 1+ AB

(d) none of these

(d) none of these

(d sin™

X | =

(d) none of these
T . 4
—4+sn X

(d) 2

(@ 7 —secx

(d) none of these

(d) none of these

(d) into

(d) none of these

(b) value when valueis given
(d) angle when valueis given

(b) sin"tx = (sinx)™
(d) none of above

(b) trigonometric functions

(d) none of above

(b) finding its inverse
(d) none of these
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If x=sin‘li , then tanx =
2

1

@ — (b) 1 (90 (d) none of these
J2
If cos 12 =
13

. 5 . 113 . 413
b) sin™t = b) sin™t—= 0 sint= none of these
(b) 13 (b) 2 (© = (d)
The graph of sin function whose domain is set of real numbers cutsthe x — axis
(a only once (b) twice (c) finitetimes (d) infinite times
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